
lg)f{o ldlt 2074.06.01  k"lhut cf=a=074.075

s|=;= cfof]hgfsf] gfd ljlQo ;fdflGos/)f >f]t 

1
xf]Sdf vf]nf k'n dd{t j*f 

g+= 2,5 k'n dd{t
1100000.00

2
b'dfxf ^f]ndf jfn ljsf; 

s]Gb| lgdf)f{
200000.00

3
b'dfxf ^f]n jfn ljsf; 

s]Gb|sf] v]n d}bfg lgdf)f{
50000.00

4

xf]Sdf vf]nf d'xfg eO{ j*f 

g+= 2 ljleGg &fp+df hfg] 

nufot 4 g+=j*f hfg] 

s'nf] dd{t sf] nfuL 

300000.00

5
&]s]bf/ nf]s]Gb| /fh e)*f/L 

nfO{ e'QmfgL lbg afsL+
190000.00

hDdf 1840000.00

lg)f{o ldlt 2074.09.02  k"lhut cf=a=074.075

7

na|]s'^L jx'p$]ZoLo zxsf/L 

;+:yf nfO{ #/]n' lx+;f lkl*t

 dlxnfnfO{ ;]jf k|jfx 

;`rfng ug{

500000.00

8
l;$]Zj/ /ldt] h'/]('~uf 

kmf]S^ df]^/ jf^f] lgdf)f{ 
;+zf]wg ePsf] lg)fo{

9
hf}jf/L l;ds'gf df]^/ af^f] 

lgdf)f{ sf] nfuL
;+zf]wg ePsf] lg)fo{

10

b]p/fnL gfDb'vf]nf cl;g] 

xfDkmfa'~ x'b} gf~nkf x'b} 

8,13,14,hfg] df]^/ agf^f]

 lgdf)f{

1300000.00

;*s af*{ af^ 

k|fKt x'g] 

? 3000000.00

11

u(L ljBfnosf] k%f*L k§Lsf]

 *f*f nfOg df]^/ af^f] 

^<ofs cf]kgsf] nfuL

l;=g+= 84 nfO{ ;+zf]wg 

ePsf] lg)fo{

lkmlbd gu/kflnsf

gu/ sfo{kflnsfsf] sfof{no

lkmlbd kf+ry/

1 g+= k|b]z g]kfn 

sfo{kflnsfsf] lg)fo{ af^ kfl/t ah]^ 

lkmlbd gu/kflnsf gu/ sfo{kflnsfsf] j}&saf^ cfsl:ds of]hgfsf nflu ljlgof]lht ?= 

80,32,000.00 af^ lg)f{o ul/Psf of]hgf, ah]^ tyf ;+zf]lwt of]hgfx?sf] ljj/)f

sfo{kflnsfsf] lg)fo{ af^ kfl/t ah]^ 



12

6+s ld>sf] 3/ b]lv /flj;] x'b} sfn'/fdsf] 3/ 

;Ddsf] df]6/ af6f] :t/ pGglt ltsf] nfuL -

j8f g+= !_

l;=g+= 87 nfO{ ;+zf]wg 

ePsf] lg)fo{

13

2074 ;fn ebf} 25 ut]sf] 

af(L klx/fn] IftL  ePsf] 

40j^f s'nf] dd{tsf nfuL

300000.00

14

;fDbLg vf]N;L rf]sdfu' x'b} 

l;jf ;Ddsf] df]^/ af^f] 

dd{t 

200000.00

15 lqj])fL ;*s v)* j*f g+= 7 500000.00

16

km]bfos s'u]gfDaf ^f]n x'b} 

cf]v]~lbg hf]*g] df]^/ af^f] 

j*f g+= 6

400000.00

17
nvg yfkf ;f+:s[lts ejg 

dd{t j*fg+=6
100000.00

18
x'Sdf vf]nf n'Dkmfa'~ df]^/ 

jf^f] j*f g+=5,9
150000.00

19
hNkf v]n d}bfg j*f g+= 

13,14 lj:tf/ 
200000.00

20 vn'Daf df]^/ jf^f] j*f g+= 10 200000.00

21
cfdjf] ]̂ dfnaf;] vfg]kfgL 

dd{t j*f g+=11
150000.00

22 km]d];'jf k|f=lj :s'n dd{t 50000.00

23
kf?xf~ k|f=lj= b]vL na|]s'^L

 hfg] df]^/ af^f] j*f g+= 5
300000.00

24
l;jf vf]nf n'Dkmfa'~ b]vL kmfNu'gGb 

;Dd hf]*g] df]^/ af^f] dd{t
400000.00

25 dlh ]̂ v]n d}bfg j*f g+= 2 lj:tf/ 200000.00

26
km'njf/L b]vL ef] ]̂uf+p u'Djf 

l;*L dfu{ lgdf)f{ j*f g+=12
200000.00

27
clwsf/L k+`rdL lgufn] df]^/ jf^f] 

dd{t j*f g+= 13
200000.00

28
lkmlbd j*f g+= 5 u}/L uf+p 

vfg]kfgL d'xfg ;+/If)f
100000.00

29
dlxnf g]t[x?sf nfuL Ifdtf 

clej[l$ sfo{s|d
500000.00

30

l;=g+=128 jf^ ljlgof]lht /sd jf^

 kmfNu'gGb uf]N* sk lkmlbd :kf]l^~ 

sNj nfO{

5950000.00

1840000.00

7790000.00s'n hDdf

2074.06.01 sf] hDdf

2074.09.02 sf] hDdf


